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	Instructions:  During “Step 1a Vocabulary” take data on the teaching of each word for the first student.  For all subsequent steps take data on the first student.  When there is more than one Sd per step, record for the first student (this is more common in the lower support level lessons [e.g. Sd1:  Where did Caleb enter the store? What point?  Sd2:  Now it’s your turn. Show where Caleb entered the store.  Circle the point on your grocery store map.]).

	Opening
	[bookmark: Check78][bookmark: Text13]|_| Script      

	Step 1a Vocabulary
	[bookmark: Check77][bookmark: Text14]|_| Materials Ready      

	Step 1b Introduce Story
	[bookmark: Check76][bookmark: Text15]|_| Script      
	[bookmark: Check79]|_|  Requires students to respond 
[bookmark: Text16]     

	Step 2a Read story
	[bookmark: Check75][bookmark: Text17]|_| Reads Story      
	[bookmark: Check80]|_| Requires students to respond

	Step 2b Identify the Problem
	[bookmark: Check74]|_| Reads script
[bookmark: Text9]     
	 A
Sd 
w 
P
	[bookmark: Check50][bookmark: Check51][bookmark: Check52][bookmark: Check53][bookmark: Check54][bookmark: Check55][bookmark: Check56][bookmark: Check57][bookmark: Check58]|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	[bookmark: Text30]Step     
	[bookmark: Check73]|_|Reads script
[bookmark: Text10]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check72]|_| Reads script
[bookmark: Text11]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check71]|_| Reads script
[bookmark: Text12]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check70]|_| Reads script
[bookmark: Text18]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check69]|_| Reads script
[bookmark: Text19]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check68]|_| Reads script
[bookmark: Text20]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check67]|_| Reads script
[bookmark: Text21]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check66]|_| Reads script
[bookmark: Text22]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check65]|_| Reads script
[bookmark: Text23]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check64]|_| Reads script
[bookmark: Text24]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check63]|_| Reads script
[bookmark: Text25]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check62]|_| Reads script
[bookmark: Text26]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Step     
	[bookmark: Check61]|_| Reads script
[bookmark: Text27]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	Restate the Problem Statement
	[bookmark: Check60]|_| Reads script
[bookmark: Text28]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	State Solution in Story Context 
	[bookmark: Check59]|_|Reads script
[bookmark: Text29]     
	 A
Sd 
w 
P
	|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|
|_|  |_| |_| |_| |_| |_| |_| |_| |_|

	[bookmark: Text8]Additional Notes:     










A= gains student attention, Sd= Discriminative Stimulus, w = Appropriate wait time, P = prompt or praise contingent on student response
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